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Rodziny	
  zastępcze	
  sesja	
  10	
  

Samoocena	
  -­‐	
  pytania	
  
	
  

1. Opiekun	
  powinien	
  przede	
  wszystkim	
  zapewnić	
  dziecku:	
  
a. kontakt	
   z	
   jak	
  największą	
   liczbą	
  dorosłych,	
   aby	
   zobaczyło	
   jak	
  najwięcej	
  wzorców	
   i	
  wybrało	
  

dla	
  siebie	
  ten	
  najodpowiedniejszy	
  do	
  naśladowania	
  
b. kontakt	
  z	
  jak	
  największą	
  liczbą	
  rówieśników	
  
c. dużo	
  wygodnych	
  usług	
  
d. długofalową	
  relację	
  

	
  
2. W	
  przypadku	
  niemowląt	
  i	
  małych	
  dzieci:	
  

a. posiadanie	
  wielu	
  opiekunów	
  odgrywa	
  rolę	
  stymulacji	
  
b. już	
  nastąpił	
  ich	
  rozwój	
  społeczny	
  
c. wiele	
   rozstań	
   w	
   ciągu	
   dnia	
   i	
   tygodnia	
   stwarza	
   szczególne	
   zagrożenie	
   dla	
   rozwoju	
  

społecznego	
  i	
  przywiązania	
  
d. żadne	
  z	
  powyższego	
  

	
  
3. Wspieranie	
  rozwoju	
  własnej	
  tożsamości	
  wymaga:	
  

a. posiadania	
  przestrzeni	
  osobistej	
  przez	
  każde	
  dziecko	
  
b. uczenia	
  dziecko,	
  aby	
  dzieliło	
  się	
  wszystkim,	
  co	
  posiada	
  
c. aby	
  dziecko	
  nie	
  przywiązywało	
  się	
  do	
  przedmiotów,	
  np.	
  do	
  misia	
  
d. aby	
   dziecko	
   chroniło	
   swoją	
   przestrzeń	
   osobistą	
   i	
   przedmioty	
   bez	
   pomocy	
   ze	
   strony	
  

dorosłych	
  
	
  

4. Aby	
  wspierać	
  rosnącą	
  samoświadomość	
  niemowlęcia/dziecka,	
  możesz:	
  	
  	
  
a. bawić	
  się	
  lustrami	
  
b. pozwolić	
  dziecku	
  posłuchać	
  jego	
  nagranego	
  głosu	
  
c. pozwolić	
   dziecku	
   się	
   zobaczyć	
   na	
   krótkim	
   filmiku	
   zrobionym	
   w	
   trakcie	
   zwykłych	
  

codziennych	
  czynności	
  
d. wszystko	
  powyżej	
  	
  

	
  
5. Dziennik	
  może	
  zawierać:	
  

a. ciekawe	
  wydarzenia	
  z	
  danego	
  dnia	
  
b. zdjęcia	
  dzieci	
  zrobione	
  w	
  trakcie	
  różnych	
  zajęć	
  
c. informacje	
  o	
  krewnych	
  dziecka	
  
d. wszystko	
  powyżej	
  

	
  
	
  
	
  

	
  

Rozwiązanie:	
  1d;	
  2c;	
  3a;	
  4d;	
  5d	
  


